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Instructions:

1. Attempt any five questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.
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Explain principles of surveying.
Draw a figure of a standard metric chain with handle , links and
tallies.
Differentiate between :
1) Tie line and base line.
2) Prismatic compass and surveyor’s compass.

State the various types of scale and describe characteristic of an
ideal scale.
What is local attraction ? How does it affect compass survey?

OR
Explain the construction of diagonal scale 1 cm = 3.5 km and show
47.4 kmon it.

Explain different parts of a prismatic compass and their uses with a
neat sketch.

1) The magnetic bearing of a line was found to be N 60° 30" W in
2003 . When the declination was 6° 10’ E, find its present magnetic
bearing of declination is 4° W at present.

2) Convert the following W.C.B. to Q.B. or R.B.
(i) 52°15° (i) 150°15’

OR
Explain temporary adjustment of a level.
Following are the observed bearings in a closed traverse ABCD.
Find included angles, Correct them and also apply corrections for
local attraction; if any. Apply required check also.

Line F. B. B.B.

AB 124°30’ 304%30°
BC 68°15 249%45’
CD 312°00 127%15’
DA 197°00’ 20°15°

Explain testing and adjustment of chain.
A 20 m chain was found to be 15 cm too long after chaining a
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distance of 1600 m. It was found to be 30 cm too long at the end of
day’s work after chaining a total distance if 3200 m.
Determine the correct distance if the chain was correct before the
commencement of the work.

OR
State advantages and disadvantages of plane table survey.
The following consecutive reading were taken with a level and a 4
meter leveling staff on a continuously slopping ground at common
intervals of 30 m.

0.855 (on A), 1.545, 2.335, 3.115, 3.825, 0.455, 1.380, 2.055, 2.855,
3.455, 0.585, 1.015, 1.850, 2.755, 3.845 (on B)

The instrument was shifted after the fifth and tenth readings. The RL
of a was 380.500. Calculate the RLs of all the points.

What are the uses of Contour map?
The area of an irregular figures was measured with a planimeter
having anchor point outside the figure. The difference in planimeter
reading (i.e. IR-FR) is 2.500 when the area of 320 sqcm. With the
same setting of the tracing arm and anchor point outside, another
figure is traversed and difference in reading is observed to be 4.684.
Compute the area of figure.

OR
Explain “Zero Circle” of planimeter.
The following offsets were taken from a chain line to an irregular
boundary line at an interval of 10 m:

0, 2.50, 3.50, 5.00, 4.60, 3.20, 0 m.

Compute the area between the chain line, the irregular boundary line
and end offset by : (a) The average ordinate rule (b) The Trapezoidal
rule (c) Simpson’s Rule
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0.855 (on A), 1.545, 2.335, 3.115, 3.825, 0.455, 1.380, 2.055, 2.855, 3.455,
0.585, 1.015, 1.850, 2.755, 3.845 (on B)
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